= 7 i
& * PR LA - P MRS | anss
PR 250 — AR R P A BR (3D HIBLD1)
[152‘11 (2) (3)
M GM 2mr GMT21M3
o T 472
(4) (5)
GM g(RT)?™?
R2 Ar?
(6)
EZoh-8E#FE->THELT S E
g(RT)? (26 x10°m) x (22 x 63 x 1025)]"
am? 2 m/s
= (2% x 62 x 10*)3(400) m3.
400 = (74)3 THAZ &b,
r=2%*x6?2%x10*x74m=16x36x7.4%10Kkm
=576 x 74 km = 42 624 km
=43000km =43 x10*km=43%x10" m-- (&)
rigonsbd,
f2
RETrRILEF—  |1]| v AU=Q+W il I =~
+| -W # AU +w x| AU=Q s| AU=W
3
(1) _
4r — 2i A yGAA
(2)
@

/NEH




P

L tl:@i%%ﬁ% * i@i@ ﬁ@%ﬁﬁ;{f& TBRE R
TR B 22 30 — R aZe B A R (3HDIHD2)
(2]
1
7 FeUF A BF v n
B —q @ R—IL
2
- I
. bcng
CEIIRES X=X
BI
ZEHDIED R E S
bcn
4

(1)

EHT,

BIEODKESZRELT HE. BENFTEHFITERT I NDORER
ZBADEDART, RESL |qlE ERT ENTES,

-, AEANFIAEEINGZITS2O0—-L YL, B3ELY.
MEAZBOEDME, KEIA -fcin <H5b,

IREDHDDOYBNEY. —|qlE+,-=0 LRE D,

_ BI Bl
~ ben|—q|  beng

- ()

(2)

BI
bnq

g




N
T

PR 2 0 — AR PR AR (3#DH>H?D 3)

BoTOE O mEnn . P AT [

(3]
1

(1)

(2)

kvgy —mg=20

(B2 ]
ENEZETERICEDNBPHYEL>TNS =8

AR ImEE v, TERT HI5E. BBICKVLERIT S TRE (B
HEZETER) OALHYE-TLS,
=, BRPOREIZEE V 20 F=&E. B E 1L
E=V/d THb,
&2T. q(V/d) =mg + kv,
(M. mg = ky,
hxEKITKALT.
q(V/d) = kvy + kv,
Liz>T. q=dk(vy+v,)/V

& 2
(1)

@ 1.60 @ 1.60 ® 481 @ 3.20

(2)
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